
Practice Problems

1.) a)Whatare the surfaces withx=1 and

3 boundary components?
b)Read Lemma 3.1 in "On x-slice pretzel links."

c.) Use a) and c) to showthatthe following
link is not X-slice

P(2, -3,2, -b) -i
I

d)Read aboutmeknotsinks.
show that

ps
is a X-slice mutantof P(2,3,2,-6).

Note:Many knotinvariantsare identical

for mutants. For example, if KandK' are

mutants, thenc(k)=olk) and detk-detk'



-h

2)Consider the Knot P(3,3,-15
=Mihis1 =
W ↳

a) Calculate o(P(3,5,-15) and det(P(3,3,-1st) by hand and

use KLO tocheck. Do these obstructsliceness?

b) If K is slice, Ilattice embedding (4,0) +(2, -5)

where Qis theincidence matrixof ot$
15

-

show thatK is notslice by showing Isuch a

lattice embedding.

3.) IfV is a SeifertMatrixfor a Knot K, then

the Amerpolynomial of K is defined by

SRI) = det/U-tVT.(Note thatAnfil
=detk)

a) compute Jnit) for $

b)Read aboutthe Fox-Milnor theorem, which is

another classical sliveness obstruction.

c)can you show P(3,3,-15) is notslice using
this obstruction?



Note:ARLES is defined up tomultiplication by It? nek

eg:5-27 +5t= 5t3-25+555=5t-2-2E+5

It is oftenexpressed as a symmetric

Laurent polynomial. For example:
5 -2t +52 = 5t -2

+5t

the Fox-Milnor theorem views ApIt) as

writtenin its symmetric form.


